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F

Scientists are particularly concemed about CO, becauss it is the most abundant of the gases that.
we affect directly. While we have stabilsed our CFC and methane emissions, we have not done the
‘same with CO, 5o far. The carbon dioxide in the atmosphers continues to rise by about 0.4 per cent
ayear - becauss the fossil fuels that produce it fil 85 per cent of our energy requirements.

G

According to NASA's Schmidt, “CO, stays around for centuries. Woridwide, we produce some
23.5 gigatonnes of GO, annually. (A gigatonn is a trilion kiograms.) Fortunately, only half of this
amount stays in the atmosphere; natural systems absorb the rest. For instance, oceans, our
largest repository of carbon dioxide, take in more than a quarter of our CO, emissions every year.
‘They already hold about 50 times the amount in the atmosphere and ten times that in the land
biosphere. But just how much more they can safely store is stil not clear. In addtion, forests and
plants soak p less than a quarter of GO, emissions. Through photosynthesis, plants separate
GO, into oxygen, which they emit, and carbon, which becomes part of their cells.

H

Climate change may also result from regular shits in the orbit of the earth and the tit of its axis
changing how sunlight is distributed around the globe, and may explain why the ice ages came
and went. These shifts take place slowly over hundreds of thousands of years.

Tiny particles pumped into the atmosphere by erupting volcanoes and industrial pollution reflect
some solar energy back o space, with the effect of making things cooler. In 1991, Mount
Pinatuioo in the Philippines blew so much dust into the stratosphere that the temperature
dropped by half a degree for two years.

J

Water in the form of vapour and clouds plays  role, but their impact is hard to predict. Water
‘evaporating from warmer oceans creates clouds that can both trap heat and reflect it into
space. ‘Low clouds tend to cool the planet,” Professor Charison says. 'High clouds warm it.”

K

Many researchers have concluded that natural forces alone do not explain the temperature
increases over the past 30 or 40 years. Bruce Bauer, who studies ancient weather systems at
the World Data Gentre for Paleociimatology in the US, says, ‘When you try to do the maths, the
only way you can calculate what's happening is to include the effects of artificial CO,."

L

The theory of heat-trapping gases projects that as CO, emissions go up, temperatures wil rise
in the lower atmosphere and at the surface of the earth. Thomas Karl, director of the National
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QUESTIONS 1-5

Reading Passage 1 has 13 paragraphs, A-M.
Which paragraph contains the following information?
Write the correct letter A-M in boxes 1-5 on your answer sheet.

1.
2.
3.
4

5.

0f all GHGs, methane has had the highest increase in the age of industrialisation.
The greenhouse effect prevents the earth's atmosphere from becoming too cold.
Nearly 50 per cent of CO, produced is dissipated in our natural environment.

There are contradictory opinions about the role of human beings in enhancing global
warming.

The atmosphere surrounding us has all but one of the greenhouse gases present
init.
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QUESTIONS 6-9
Answer the following questions using NO MORE THAN THREE WORDS from the text.
Write your answers in boxes 6=9 on your answer sheet.

6. How did scientific societies and science academies respond to the result reached by
the IPCC?

7. What are chlorofluorocarbons used for?

8. What environmental effect did the eruption of Mount Pinatubo have that lasted until
about 19932

9. What forms of water cause the earth's temperature to rise or to fall?
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QUESTIONS 10-13

Complete each sentence with the correct ending A~F from the box below.
Write the correct letter A=F in boxes 10-13 on your answer sheet.

10. According to Professor Robert Charlson
11. According to Bruce Bauer
12. According to Thomas Karl

13. According to the Intergovernmental Panel on Climate Change

carbon dioxide remains for hundreds of years.

one must take into account the effects of unnatural carbon dioxide.
our planet is warmer than it was hundreds of years ago.

the rise in the earth’s temperature could be controlled.

there is proof that global temperature has been affected by humans.

mmo o o>

science has known of the greenhouse effect for more than a hundred years.
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READING PASSAGE 2

You should spend about 20 minutes on Questions 14-26, which are based on Reading
Passage 2 on the following pages.
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What is an ASBO?

Ask somebody to make a st of crimes and they will probably come up with the usual
suspects that you or | would: murder, obbery, assault, burglary and so on. They might
even include acts which are merely ‘against the law; ke parking on a double yellow line.
Butif you ask them to make a st of anti-social behaviours, you are getting into an area
where there is going to be considerable disagreement.This didn'tstop the UK government,
which introduced Anti-Social Behaviour Orders, or ASBOs, in 1998 as part of the Crime and
Disorder Act - legislation designed to deal with practically all aspects of criminal activity and
disorderly behaviour.

Asubjective definition of anti-social behaviour permits you to cast your net wide and
include anything you find personally disagreeable; the legal definition i also widely inclusive.
o quote the Crime and Disorder Act,itis behaviour which causes or islikely to cause
harassment, alarm or distress to one or more people who are notin the same household

as the perpetrator. This includes, among many other things, foul and abusive language,
threatening behaviour, shouting, disorderly conduct, vandalism, intimidation, behaviour as
the result of drug or alcohol misuse, graffti and noise which is excessive, particularly at night.
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authorities. When the authorities are satisfied that they have enough evidence, the local
council applies to the magstrates'court o have an ASBO imposed.

We sill haven't decided what constitutes anti-social behaviou. It doesn't have to be.
physical violence, of course, but i far easier to identify and deal with it is. What about
threatening behaviour? We're not talking here about direct threats such asIfyou come round
hereagain, Il beat you up!; but stuations perceived as threatening. Let's say a pensioner or a
person of timid disposition is on their way home and they run into a group of young people:
who are shouting, swearing and kicking a ball about and who happen to make a few unkind
remarks as the person passes, Let's say the person s alarmed or feels threatened by the
situation. Does it merit getting the ASBO process going?

Infact, young people merely hanging out n public places, however boisterous their
behaviour might seem to be to some people, are not considered to be indulging in anti-social
behaviour. However, there is  proviso. Such behaviour i its own ight s not considered
anti-social unless tis thought it s being done with other, more serious, behavioural atitudes
involved. This, of course, can be very subjective.
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fea s that ASBOs are sanctions designed to deal with issues that affect everyone in
the community and as such are civil sanctions, not criminal ones, and need the cooperation
of the community to be effective. For example, a private individual cannot apply for an
ASBO; he or she must make a complaint to the police or local authority, who will then work
together to gather more information and build up evidence. This involves getting witnesses,
‘among whom will no doubt be neighbours and acquaintances, to make statements to the
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A person faced with an ASBO can argue in their defence that their behaviour was.
reasonable and unthreatening. This too is subjective, and both sides' caims are open to wide
interpretation. Something else that has to be taken into account here i that ASBOs are made
onan individual basis even if that person is part of a group of people committing anti-social
behaviour. I a case reaches the magistrates'court, witnesses can be called to provide further
evidence for or against the defendant. However, the magistrate, as well as considering the
complaints made against the defendant, wil ake into account his or her family ituation,
welfare issues, and whether or not he or she has been victimised or discriminated against. it
s worth bearing in mind, though, that witnesses can be intimidated or otherwise persuaded
not to appear in court and give evidence.

When the Crime and Disorder Act came it force, ASBOS were generally intended to be
‘ameasure to deal with adult anti-social behaviour, yet within the Act tstates that an order
‘can be applied for against any individual over the age of ten years old. It s striking fact that
the majority of ASBOs imposed since the law was enacted have been handed out to young
people and children.

The question s, have they been effective? The goverment, naturally, laims that they have
brought about  real improvement n the quality of lfe in commaunities around the country.
Nay-sayers, such as civil ights campaigners, claim the measures are far too open to abuse.
Some say they go too far and some that they don't go far enough and fack bte. However, a
genuine impediment to their effectiveness s that to impose an ASBO takesa lot of ime and
paperwork,involving the cooperation of community, police and local council, and they are
very expensive to implement. One estimateis that an ASBO can cost in excess of £20,000.
Whatall this means s that ASBOs are being used very rarely in many parts of the country. So.
the juryisstll ot as to how effective they really are.
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Questions 14-16

Choose THREE letters A-H.

NB Your answers may be given in any order.

‘Which THREE of the following statements are true of ASBOs, according to the text?

‘They were introduced to deal with specific crimes.

Parking on a double yellow line could get you served with an ASBO.

Swearing is one of the offences referred to in the Crime and Disorder Act.

‘Asa private householder you can apply for an ASBO against a noisy neighbour.
Itis not llegal for young people to gather in groups in public places.

An ASBO cannot be served on a group of people behaving in a disorderly manner.
Alarge proportion of those served with ASBOS are over the age of 21.

Most peaple agree that ASBOs have been effective all over the country.

ZOTMEMOO®W>
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Questions 17-19
Choose the correct letter, A, B, C or D.

17 The writer suggests that
A anti-social behaviour should be seen asa crime.
B few people agree on how to define a crime.
C anti-social behaviour i difficult to define.
D the legal definition of crime is too exclusive.
18 What surprised the writer about the imposition of ASBOs?
A the number of ten-year-olds that had been given one
B that very few adults had been served with ASBOs
C that most of those served with ASBOs were youngsters
D how few ASBOs had been imposed since 1998
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19 In the writer's opinion, how effective have ASBOs been?
A There isnt enough evidence to decide.
B Theyare too expensive to be effective.
C They are ineffective because they are not strict enough.
D Being open to abuse renders them ineffective.
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Questions 20-26
Complete the sentences.
Choose NO MORE THAN THREE WORDS from the passage for each answer.

20 The official says that anti-social behaviour is behaviour
which can cause alarm or distress.

21 Along with swearing and destruction of public or private property, making
noise s considered anti-social behaviour.

22 ASBOS are considered to be part of law rather than
criminal law.

23 Citizens have to tocither the local council or the police
before any action can be taken.

24 In their efforts to collect evidence the authorities may call on
10 get more information.

25 ASBOsare issued ata

2 is the most straightforward form of anti-social
behaviour to determine.
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List of Headings

i The biological clock

i Why dyingis beneficial

The ageing process of men and women
Prolonging your life

v Limitations of e span

Vi Modes of development of different species
Vil Astable life span despite improvements
Energy consumption

ix Fundamental differences in ageing of objects
and organisms

X Repair of genetic material
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READING PASSAGE 3

You should spend about 20 minutes on Questions 27-40, which are based on Reading
Passage 3 on the following pages.

Questions 27-32
Reading Passage 3 has seven paragraphs, A-G.
Choose the correct heading for paragraphs B-G from the list of headings below.

Write the correct number, i-x, in boxes 27-32 on your answer sheet.
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 E Ifalife span is a genetically determined biological characteristic, it is logically
necessary to propose the existence of an internal clock, which in some way
measures and controls the ageing process and which finally determines death
as the last step in a fixed programme. Like the life span, the metabolic rate has.
for different organisms a fixed mathematical relationship to the body mass. In
comparison to the life span this relationship is ‘inverted' the larger the organism
the lower its metabolic rate. Again this relationship is valid not only for birds,
but also, similarly on average within the systematic unit, for all other organisms
(plants, animals, unicellular organisms).
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Reading

HOW DOES THE BIOLOGICAL CLOCK TICK?

A Ourlife span s restricted. Everyone accepts this as ‘biologically' obvious.
“Nothing lives for ever? However, in this statement we think of artficially
produced, technical objects, products which are subjected to natural wear and
tear during use. This leads to the result that at some time or other the object
stops working and is unusable (‘death’ in the biological sense). But are the
wear and tear and loss of function of technical objects and the death of living
organisms really similar or comparable?

B Our ‘dead products are ‘static’, closed systems. It is always the basic material
which constitutes the object and which, i the natural course of things, is worn
down and becomes ‘older’. Ageing in this case must ocour according to the laws
of physical chemistry and of thermodynamics. Although the same law holds
for a living organism, the result of this law is not inexorable in the same way.

At least as long as a biological system has the ability to renew itself it could
actually become older without ageing; an organism s an open, dynamic system
through which new material continuously flows. Destruction of old material

and formation of new material are thus in permanent dynamic equilbrium.

The material of which the organism is formed changes continuously. Thus

our bodies continuously exchange old substance for new, just like a spring
which more or less maintains its form and movement, but in which the water
molecules are always different.

C Thus ageing and death should not be seen as inevitable, particularly as
the organism possesses many mechanisms for repair. It is not, in principle,
necessary for a biological system to age and die. Nevertheless, a restricted life
span, ageing, and then death are basic characteristics of life. The reason for
this is easy to recognise: in nature, the existent organisms either adapt or are
regularly replaced by new types. Because of changes in the geneic material
(mutations) these have new characteristics and in the course of their individual
lives they are tested for optimal or better adaptation to the environmental
conditions. Immortality would disturb this system — it needs room for new and
beter life. This is the basic problem of evolution.

D Every organism has a life span which is highly characteristic. There are striking
differences in life span between different species, but within one species the
parameter is relatively constant. For example, the average duration of human
lite has hardly changed in thousands of years. Although more and more people
attain an advanced age as a result of developments in medical care and better
nutrition, the characteristic upper limit for most remains 80 years. A further
argument against the simple wear and tear theory s the observation that the
time within which organisms age lies between a few days (even a few hours for
unicellular organisms) and several thousand years, as with mammoth trees.

75
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F Animals which behave ‘frugally’ with energy become particularly old, for
example, crocodiles and tortoises. Parots and birds of prey are often held
chained up. Thus they are not able to ‘experience lfe’ and so they attain a high
Iife span in captivity. Animals which save energy by hibernation or lethargy
(e.g. bats or hedgehogs) live much longer than those which are always active.
The metabolic rate of mice can be reduced by a very low consumption of food
(hunger diet). They then may live twice as long as their well fed comrades.
Wormen become distinctly (about 10 per cent) older than men. If you examine
the metabolic rates of the two sexes you establish that the higher male
metabolic rate roughly accounts for the lower male life span. That means that
they live lfe ‘energetically’ - more intensively, but not for s long.

G Itfollows from the above that sparing use of energy reserves should
tend to extend life. Extreme high performance sports may lead to optimal
cardiovascular performance, but they quite certainly do not prolong life.
Relaxation lowers metabolic rate, as does adequate sleep and in general an
equable and balanced personality. Each of us can develop his o her own
“energy saving programme’ with a litlle self-observation, critical self-control and,
above all, logical consistency. Experience will show that to live in this way not

only increases the life span but is also very healthy. This final aspect should not
be forgotten.
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Questions 33-36

Complete the notes below.

Choose NO MORE THAN TWO WORDS from the passage for each answer.
Write your answers in boxes 33-36 on your answer sheet.

« Objects age in accordance with principles of 33 ... .andof34...

+ Through mutations, organisms can 35 .. . better to the environment

+ 36

would pose a serious problem for the theory of evolution
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Questions 37-40

Do the following statements agree with the views of the writer in Reading Passage 3?

In boxes 37-40 on your answer sheet, write

37
38
39
40

YES ifthe statement agrees with the views of the writer
NO fthe statement contradicts the views of the witer

NOT GIVEN if it is impossible to say what the writer thinks about this

The wear and tear theory applies to both artficial objects and biological systems.
In principle, it is possible for a biological system to become older without ageing.
Within seven years, about 90 per cent of a human body is replaced as new.
Conserving energy may help to extend a human's life.
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Part 1 Academic Reating: Unt 14 Acsdemc Reading Pracice Tests

READING PASSAGE 1

You should spend about 20 minutes on Questions 1-13, which are based on Reading Passage 1.

The Truth About Global Warming

Claudia Gornwall

A

Eleven of the hottest years since 1850 occurred between 1995 and 2006. Last year, the United
Nations Intergovernmental Panel on Climate Change (IPCC) reported that the earth was about
0.75°C warmer than it was in 1850. While this doesn't sound like a lot, a small difference in
average temperature can make a big difference in climate. During the last ice age, for example,
the planet was only about 5°C colder than now.

B

The IPCC has concluded that human activity is very likely responsible, by increasing the
concentrations of greenhouse gases and thus the greenhouss effect. More than 25 salentiic
societies, including the national soience acadsmies of the G8 nations, have endorsed the
conclusion. Some scientists, however, still disagree, arguing that human contrioution is minimal.

[¢]

The effect, explains Robert Charlson, a professor at the University of Washington, ‘has been

on the scientific books for over a century. It has been tested very thoroughly.” Certain gases
cause the atmosphers to trap heat energy at the earth's surface. Without the greenhouse sffect,
the earths average global temperature would be ~18°C, rather than the present comfortable
14.6°C. The concem is with the enhanced greenhouse effect that humans cause - specifically,
that it will heat the planet too much.

D

The main greenhouse gases (GHG) are carbon dioxide (CO,), methane, nitrous oxide,
chiorofluorocarbons (GFCs) and water vapour. Except for CFCs, which are for commercial
purposes, these gases are found in nature. Buring fossil fuls, trees and agricultural waste
adds to the CO,, methane and nitrous oxide, as do landfils, oil refineries and coalmines. And
we affect water vapour indirectly, too. As the earth warms because other GHG levels increase,
evaporation ramps up, creating more water vapour.

E

'CO, has increased 35 per cent since the beginning of the industrial era, says Gavin Schmict, a
cimatologist with NASA's Goddard Instituts for Space Studies in New York. "Methane has more
than doubled. Nitrous oxide has gone up 17 per cent.’

®
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Oceanic and Atmospheric Administration's National Climatic Data Centre in the US, says, ‘The
evidence continues to support human impact on global temperature.” 1

M

According to the IPCC, by 2100 the averags temperature might rise by as much as 5.8°C. But
its report also says we could hold temperature increases to a more bearable two degrees above
pre-industrial levels. Getting that result means halving current GO, emissions by 2050, which is
achievable if we lower them by slightly over 1 per cent of current levels every year until then.





